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Questions:

Q1: What are the specific reasons for this?

1)Too few individuals or are missing people’s past medical histories

2) The many risk factors for some cancers

3) the disease progresses differently in different people
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Q2: Place the appropriate preposition in parentheses.

in
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(Q3:What will this registry allow us to do?

We could trace cancer diagnoses. health effects and risk of death back to potential risk factors.
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Q4:Describe this technique in detail.

Replace personally identifiable information with encrypted "tokens" and match participant-

specific tokens across data sets.
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Q5: What is the background behind this vast amount of clinical data?

The COVID-19 pandemic
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